


m ume 6 .00HOU cUcmeme KoopdyHam 2paghuxy
ally=2X-3; y=2x+4; y=2x
6)y- = :0,5%; y=3x:1
8)y= S V=r2x+7 vy =0,5x+7
desratime 816800, 3arlojiHue
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y=+0,5x%;
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—16) y=x+2;
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3ATONHITE

TABIMLY:

JIlnHenHble Anrebpaunyeckoe | NeomeTpuyeckum
yHKUMU ycnoBue BbIBOA
v=kilx+m1l

vy=k2x+m2




JIlnHenHble Anrebpanyeckoe | NeomeTpuyeckumn
dyHKLUMN ycrioBue BbIBOL,
NpaMble
ki = k2 napannenbHbl
=k1x+m1l NMpambl
y=kixtm kI # k2 PAMBIC
nepecekarTcH
y=k2x+m2
ki # k2 Npamble
ml = m2 nepecekarTcs B

Tou4kKe (0; m)




